2019-20 MPSSAA Basketball Quiz #13

Questions:

1. A-1is shooting a single bonus free throw attempt. When the ball is released, B-1 breaks the
free throw line and makes illegal contact with A-1. A-1 misses the whole ring because of the
contact. What is the correct way to handle the situation?

2. As A-1 releases the ball on the first of two free throws, B-1 breaks the free throw line and
makes illegal contact with A-1. Team A is in the single bonus and the free throw is
unsuccessful. What is the correct way to handle the situation?

3. A-1is airborne, releases a shot, and commits a flagrant foul on B-1. The try is successful. .
What is the correct way to handle the situation?

4. While A-1 is in the act of shooting, B-1 pushes A-2 into A-1. A-1’s shot is successful and
Team A is in the bonus. What is the correct way to handle the situation?

5. A spectator is heckling Team A. Bench player A-2 leaves the bench to confront the spectator
and engages in physical contact. What is the correct way to handle the situation?

Teaching Points:

1. Be ready for the unexpected.

2. Review free throw penalties.

3. Review penalties.

4. Read five Case Book plays every day.

ANSwWers:
1. Double violation is called and since Team A is in the bonus, A-1 will receive a bonus free
throw with all players lined up. Rules 9-1-3 (h.); 9-1, Penalty-3; 4-8-1 (a.).

2. A-1 will shoot 2 free throws with no players lined up. A-1 will then come back and shoot the
single bonus with all players lined up. Rules 9-1-3 (h.); 9-1, Penalty-2 (b.); 4-8-1 (a.).

3. Basket counts. B-1 will receive two free throws and Team B will receive the ball at the spot of
the foul. Rules 7-5-4 (b.); 10-7, Penalty-4; 8-2; Case Book 4-19-6, Situation A.

4. Basket counts and A-2 will go to the line for a single or double bonus. Rule 8-2.

5. Team A’s Head Coach is charged with a direct technical foul and loss of coaching box
privileges, A-2 is disqualified, and Team B will receive two free throws and the ball at the
division away from the scoring table. Case Book 10-6-5, Situation B.
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